515 520 505 Munsell System Y,,=100, D65
08 77 My, C=2. V=1,2,5,8 &9, D65
510[¢ igstohe chromaticity diagram (x, y)
y q

CIE 1931 X

X,=95,04Y,,=100,00Z,-108.89 B,
%y=0,3127y,=0,3290 10
Ao=(g-2n Y
Bo=(bo ~bo ) Y
g =ago [x/y]
by = bao [2/4]

agp =1, byg=-0,

4
Ao
n=D65 -10 10
65

Munsell System Y,,=100, D65

00 C=2,V=1,2,5,8&9, D65 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bo)
BE141-1A_1 BE141-2A 1

X,=95,04Y,,~100,00Z,~108,89 B,

X=95,04,Y,=100,00Z,~108,89 B,

Xy=0,3127y,,=0,3290 T10 Xw=0,3127y,,=0,3290 10
Ar=(@ a1 Y Ar=(@-ap Y
Bi=({1-b1 )Y By=( -y ) Y
a) = ayo [(x-0,17D/y] ay = a0 [(x—0,17D/y]
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
mr,=1,000, 1 mp;=-0,169,bp;=0,389 \ 2
n = D65 10 n = D65 _10 ) 10
Munsell System Y,,=100, D65 Munsell System Y,,=100, D65
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,Vv=1,2,5,8&9, D65 -10
chromaticity diagram (a4, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,=95,04Y,=100,007,=108,89 B, X,=95,04,Y,,100,007,~108,89 B,
Xy=0,3127y,,=0,3290 T10 Xw=0,3127y,,=0,3290 10
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(by—byp) Y
ag = ay [(x-0,179/y] 4 ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
Mp=-0,974,bn,=0,658 3 Mp1=-0,169,bp;=0,389 \ M
n = D65 10 n = D65 _10 ) ) 10
5 5
Munsell System Y,,=100, D65 Munsell System Y,,=100, D65
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 -10
chromaticity diagram (as, bs) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,=95,04Y,,=100,007,7108,89 B, X,=95,04,Y,,=100,00Z,~108,89 B,
X=0,3127y,,=0,3290 210 Xw=0,3127y,,=0,3290 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = a [(x-0,172/y] + 3G = ag [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mp;=-0,974,bp,=0,65 S mp;=-0,974,bp,=0,658 6
n = D65 A 10 n = D65 10
Munsell System Y,,=100, D65 Munsell System Y,,=100, D65
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 T-10
chromaticity diagram (as, bs) chromaticity diagram (ag, be)
BE141-7A_1 BE141-8A 1




515 520 505 Munsell System Y,,=100, D50 Xw=96,42,Y,,~100,00,2,,=82,49 BD
08 17 Mmc =2,V=1,2,5,8 & 9, D50 X=0,3457y,=0,3585 +10
)51310 0 in tohe chromaticity diagram (x, y) Ag=(@g-29,) Y
S Bo= (0o —bo,n) Y
g =ago [x/y] 4
by = bao [2/4]
ay =1, byp=-0,4
. Ao
n = D50 _1'0 ! 1r0
' CIE 1931 X Munsell System Y,,=100, D5|
0 C=2,Vv=1,2,5,8&9, D50
0.0 0.2 0.4 0.6 08 10 chromaticity diagram (ag, bg)
BE141-1A_1 BE141-2A 1
X,=96,42,Y,=100,007,782,49 B, X,=96,42,Y,,=100,00Z,78249 B,
X=0,3457y,,=0,3585 Xw=0,3457y,,=0,3585 110
Ar=(@ a1 Y Ar=(@-ap Y
Bi=({1-b1 )Y By=( -y ) Y
ay = a5 [(x-0,17/y] 2, = 250 [(x-0,170/9] 1
=hyo[2/M] =bs0 [(Mpx+bp1)/Y]
ay0= 1, byo=-0,4 ay0=1, byy=-0,4 A
mr;=1,000b;=0,171 1 Mp=-0,169.bp;=0,389 \ 2
n = D50 -10 10 n = D50 -10 ' 10
Munsell System Y,,=100, I Munsell System Y,,=100, D50
C=2,Vv=1,2,5,8&9, P50 -10 C=2,Vv=1,2,5,8&9, D50 T-10
chromaticity diagram (g4, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,=96,42,Y,=100,007,782,49 B, X,=96,42,Y,,=100,007,78249 B,
Xy=0,3457y,,=0,3585 10 Xw=0,3457y,,=0,3585 110
A3=(ag=azp Y Ag=@=agp) Y
B3=(b3—b3p) ¥ By=(bs—lbgp) Y
ag =ay[(x-0,171/y] ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay0= 1, byo=-0,4 ay0=1, byy=-0,4 A
mMp1=-0,974,0,=0.658 3 mMp=-0,169.bp;=0,389 \ M
n = D50 -10 X 10 n = D50 -10 : 10
" D50 D50
Munsell System Y,,=10Q Munsell System Y,,=100, D50
C=2,Vv=1,2,5,8 &9 D50 -10 C=2,Vv=1,2,5,8&9, D50 T-10
chromatlcny diagram (ag, bg) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,=96,42,Y,=100,007,782,49 B, X,=96,42,Y,,=100,007,78249 B,
X=0,3457y,,=0,3585 10 X=0,3457y,,=0,3585 110
As=(as~asp) Y As=(@s—3n) Y
Bs=(bs-bsp) Y Bg = (06 g ) Y
a5 =ay[(x-0,171/y] ag =g [x/y] +
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay0= 1, byo=-0,4 ay0=1, byy=-0,4 A
mMp1=-0,974,0,=0.658 5 mp1=-0,974,,=0.658 6
n = D50 -10 X 10 n = D50 -10 10
" D50
Munsell System Y,,=10Q Munsell System Y,,=100, D50
C=2,V=1,2,5,8 &9 D50 -10 C=2,Vv=1,2,5,8&9, D50 T-10

chromaticity diagram (as, bs)

chromaticity diagram (ag, be)

BE141-7A_1

BE141-8A 1




520 Munsell System Y,,=100, P40

X,=100,93,,~100,00Z,~64,68 B,

08 Mmc:ﬁ, v?, 2,5,8 &dg, P40 X=0,3799y,,=0,3764 10
S in tl ticity di s = —
)51310 |250ec romaticity diagram (x, y) Ag=(@g-29,) Y
Bo=(bo ~bo ) Y
g =ago [x/y]
by = bao [2/4]
ay =1, byp=-0,4
A
\ ,
n = P40 _1'0 1r0
P40
' CIE 1931 X Munsell System Y,,=100, 440
T C=2,V=1,2,5,8&9, P 10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (g,
BE141-1A_1 BE141-2A 1
X,,=100,93)Y,,100,00Z,764,68 B, X,=100,93),,100,00Z,,64,68 B,
Xy=0,3799,,=0,3764 T10 Xw=0,3799y,,=0,3764 110
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
a) = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 ! o2
n = P40 ~10 ) ) 10 n = P40 _10 ) 10
P40 P40
Munsell System Y,,> Munsell System Y,,=100, P40
C=2,Vv=1,2,5,8 , P40 T-10 C=2,V=1,2,5,8&9, P40 T-10
chromaticity diagra (a;, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,,=100,93)Y,,100,007,764,68 B, X,=100,93),,100,007,,64,68 B,
Xy=0,3799,,=0,3764 T10 Xw=0,3799y,,=0,3764 110
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(by—byp) Y
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay=1, byp=-0,4 A ay =1, byp=-0,4 A
mMp;=-0,974,bp;=0,658 \ \ N Mp;=-0,169,0p1=0,389 \ N
n = P40 ~10 ) ) 10 n = P40 _10 ) 10
P40 P40
Munsell Systel 100, P. Munsell System Y,,=100, P40
C=2,V=1,2,%8& T-10 C=2,V=1,2,5,8&9, P40 T-10
chromaticity diagram (a. ) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,,=100,93),,100,00Z,764,68 B X,=100,93),,100,007,,64,68 B,
Xy=0,3799y,,=0,3764 210 X=0,3799y,,=0,3764 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = apo [(x-0,179/] + 3G = ag [X/y] T
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
Mp1=—0,974,b;=0,658 \ \ N Mp;=-0,974,bp1=0,658 n o
n = P40 ~10 ) ) 10 n = P40 _10 ) 10
P40 P40
Munsell Systel 100, P. Munsell System Y,,=100
C=2,V=1, 2, %8 & T-10 C=2,V=1,2,5,8&9, —10

chromaticity diagram ( 5)

chromaticity diagram (3,

BE141-7A_1

BE141-8A 1




515 520 505 Munsell System Y,,=100, AOO Xy=109,84.Y,,=99,99,7,,=35,58 BD
08 17 Mmc =2,V=1,2,5,8 & 9, AO0 Xw=0,4475y,,=0,4074 +10
)51310 0 |n the chromaticity diagram (x, y) Ag=(@g-29,) Y
Bo=(bo ~bo ) Y
g =ago [x/y] +
by = bao [2/4]
ay =1, byp=-0,4
. Ao
n = A00 -10 ' 10
A00
' CIE 1931 X Munsell System Y,,=100, AOO
T C=2,V=1,2,5,8&9, A00 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bo)
BE141-1A_1 BE141-2A 1
X,=109,84Y,,799,99.7,=3558 B, X,=109,84Y,,799,99.7,73558 B,
Xw=0,4475y,,=0,4074 T10 Xw=0,4475y,,=0,4074 T10
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
ag = a0 [(x-0,179/] 1 2, = 250 [(x-0,170/9] 1
=hyo[2/M] 0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4 A
mr;=1,000b;=0,171 \ 1 Mp;=-0,169,bp;=0,389 \ 2
n = A0O _10 ) 10 n = A00 ) 10
A00 A00
Munsell System Y,,=100, A Munsell S
C=2,V=1,2,5,8 &9, A00 T-10 C=2,V=1, 2, r-10
chromaticity diagram (ay, by) chromaticity dlagram (az, bz)
BE141-3A_1 BE141-4A 1
X,,=109,84),,=99,99.7,=3558 B, X,=109,84Y,799,99.7,73558 B,
Xw=0,4475y,,=0,4074 110 Xw=0,4475y,,=0,4074 110
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(by—byp) Y
ag =ay[(x-0,171/y] + ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay =1, byp=-0,4 A
mMp1=-0,974,0,=0.658 : 2 Mp;=-0,169,bp;=0,389 : N
n =A00 = n =A00 —
10 A00 10 10 O A00 10
Munsell Syste] =100, AOO stem Y,,=100, AOO
s [/'\’)wg%g, A00 T-10 =1,2,5,8&9, A00 T-10
iagrgm (ag, bs) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,,=109,84Y,,=99,99.7,=3558 B, X,=109,84)Y,,799,99.7,73558 B,
Xw=0,4475y,,=0,4074 110 X,,=0,4475y,,=0,4074 T10
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 =ay[(x-0,171/y] + ag =g [x/y] +
bs=byo [(Mp1x+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4 A
mMp1=-0,974,0,=0.658 \ 5 mp1=-0,974,,=0.658 \ 6
n = A00 -10 ' 10 n = A00 -10 ' 10
A00 A00
Munsell Syste) =100, A0O Munsell System Y,,= 00
C=2, Vﬁg. A00 T-10 C=2,V=1,2,5, W T-10
chromaiiity diagrdm (as, bs) chromaticity diagfam (ag, be)

BE141-7A_1

BE141-8A 1




o15 320 555 Munsell System Y,,=100, E00 X,=100,00,Y,,100,00Z,,=100,00 B,
08" Mmc=§, VTmL 2,5,8 &dg, E00 X=0,3333y,,=0,3333 +10
S in tl ticity di s = —
)51310 gsoec romaticity diagram (x, y) Ag=(@g-29,) Y
Bo=(bo ~bo ) Y
g =ago [x/y] +
by = bao [2/4]
ay=1, byy=-0,4
1 1 Lo
n = E00 -10 ' 10
Q625 E00
o 70
9495¢,E 1
' CIE 1931 X Munsell System Y,,=100, EO
0 C=2,V=1,2,5,8&9, E00 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bo)
BE141-1A_1 BE141-2A 1
X,,=100,00Y,,100,00Z,100,00 B, X,=100,00,Y,,100,00Z,,=100,00 B,
Xy=0,3333y,,=0,3333 T10 X=0,3333y,,=0,3333 110
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
a1 =ay[(x-0,1794] + 8 =29 [(x-0,179/y] +
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
a=1, byp=-04 //-§ =1, by=-04 A
mr,=1,000,b,=0,171 g 1 mp;=-0,169,bp;=0,389 2
n = E00 _10 10 n = E00 10
EO00 E00
Munsell System Y,,=100% Munsell System Y,,=100, EOO
C=2,V=1,2,5,8&9, E00 T-10 C=2,V=1,2,5,8&9, E00 T-10
chromaticity diagram (a4, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,,=100,00Y,,100,00Z,,100,00 B X,=100,00,Y,,100,00Z,,=100,00 B,
Xy=0,3333y,,=0,3333 T10 Xw=0,3333y,,=0,3333 110
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(by—byp) Y
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay =1, byp=-0,4
Mp=-0,974,bn,=0,658 ,//—} 3 Mp1=-0,169,bp;=0,389 ; Ay
n = E00 _10 / 10 n = E00 10
EO00 E00
Munsell System Y,,=100, EO0 Munsell System Y,,=100, EO0
C=2,V=1,2,5,8&9, E00 T-10 C=2,V=1,2,5,8&9, E00 r—-10
chromaticity diagram (as, bs) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,,=100,00Y,,100,00Z,,100,00 B X,=100,00,Y,,100,00Z,,=100,00 B,
Xy=0,3333y,,=0,3333 210 X=0,3333y,,=0,3333 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = apo [(x-0,179/] + 3G = ag [X/y] T
bs=byo [(Mp1x+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay0= 1, byo=-0,4 ay0=1, byy=-0,4
Mps=-0,974,0,=0,658 ://:)» s Mo1=-09740,-0658 /7 4 As
n = E00 -10 / 10 n = E00 -10 T 10
EO00 E00
Munsell System Y,,=100, EO0 Munsell System Y,,=100, EO0
C=2,V=1,2,5,8&9, E00 T-10 C=2,V=1,2,5,8&9, E00 T-10

chromaticity diagram (as, bs)

chromaticity diagram (ag, be)

BE141-7A_1

BE141-8A 1




520 Munsell System Y,,=100, CO0
7 oNM...C=2, V=1, 2,5,8&9, CO0
migstohe chromaticity diagram (x, y)

X,=98,07,Y,,=100,00Z,~118. 22 B,
X=0,3100y,,~0,3161 g
Ao=(g-2n Y
Bo=(bo ~bo ) Y
ag = apo [x/y]

b = byo [z

ay =1, byp=-0,4

n=C00

r10

Ao

CIE 1931 X Munsell System Y,,=100, C00
0 C=2,Vv=1,2,5,8&9, C00 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bo)
BE141-1A_1 BE141-2A 1
X,=98,07,Y,,=100,007,711822 B, X,=98,07,Y,,=100,00Z,7118,22 B,
X=0,3100y,,=0,3161 aL X=0,3100y,,=0,3161 110
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
a) = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
80= 1, byo=-0,4 A 80=1, by=-0,4 (—\N A
mr,=1,000, 1 mp;=-0,169,bp;=0,389 NI \ 2
n = C00 10 n = C00 _10 Nt 10
Coo C00
Munsell System Y,,=100, COO Munsell System Y,,=100, C00
C=2,Vv=1,2,5,8&9, C00 T-10 C=2,Vv=1,2,5,8&9, C00 T-10
chromaticity diagram (a4, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,,=98,07,Y,,=100,007,711822 B, X,=98,07,Y,=100,007,7118,22 B,
X=0,3100y,,=0,3161 T10 X=0,3100y,,=0,3161 110
A3=(ag=azp Y Ag=@=agp) Y
B3=(3-b3p) Y By=(04-0yp) Y
ag = ay [(x-0,171/y] a4 = ay[(x=0,17D/y] 4
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
a0= 1, byp= 0,4 A a90= 1, byg= ~0,4 / A
Mp=-0,974,bn,=0,658 3 Mp1=-0,169,bp;=0,389 ey M
n=C00 10 n=C00 _10 N 10
Coo C00
Munsell System Y,,=100, COO Munsell System Y,,=100, C00
C=2,Vv=1,2,5,8&9, C00 T-10 C=2,Vv=1,2,5,8&9, C00 T-10
chromaticity diagram (as, bs) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,=98,07,Y,,=100,007,711822 B X,=98,07,Y,,=100,007,7118,22 B,
X=0,3100y,,=0,3161 T X=0,3100y,,=0,3161 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = a [(x-0,172/y] 3G = ag [X/y]
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mp;=-0,974,bp,=0,65 S mp;=-0,974,bp,=0,658 6
n = CO00 10 n=C00 10
Coo
Munsell System Y,,=100, CO0 Munsell System Y,,=100, C00
C=2,Vv=1,2,5,8&9, C00 T-10 C=2,Vv=1,2,5,8&9, C00 T-10

chromaticity diagram (as, bs)

chromaticity diagram (ag, be)

BE141-7A_1

BE141-8A 1




o15 320 555 Munsell System Y,,=100, P00 X,=102,06,Y,,=100,00Z,81,06 B,
08" Mmczﬁ' v?, 2,5,8 &dg, P00 X=0,3604y,,=0,3531 10
S in tl ticity di s = —
)51310 gsoec romaticity diagram (x, y) Ag=(@g-29,) Y
Bo=(bo ~bo ) Y
g =ago [x/y]
by = bao [2/4]
ay =1, byp=-0,4
A
\ \ ,
n = P00 _1'0 1r0
P00
' CIE 1931 X Munsell System Y,,=100, R
T C=2,V=1, 2,5, 8 &9\ POO -10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram g, bo)
BE141-1A_1 BE141-2A 1
X,,=102,06Y,,100,00Z,781,06 B, X,=102,06,Y,,~100,00Z,81,06 B,
X=0,3604y,,=0,3531 T10 X=0,3604y,,=0,3531 110
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
a) = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 L o2
n = P00 —10 J ' 10 n= P00 i N 10
[=00] =00]
Munsell System Munsell System Y,,=100, POO
C=2,V=1,2,58& r—-10 C=2,V=1,2,5,8&9, P00 T-10
chromaticity diagram (28 % chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,,=102,06)Y,,100,00Z,~81,06 B, X,=102,06,Y,,=100,00Z,,=81,06 B,
X=0,3604y,,=0,3531 T10 X=0,3604y,,=0,3531 110
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(by—byp) Y
ag = ay [(x-0,171/y] 1 a4 = ay[(x=0,17D/y] 4
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
Mp1=—0,974,b;=0,658 \ \ 3 mp,=-0,169,bp,=0,389 " N
n = P00 ~10 ) 10 n = P00 1 10
P00 =00]
Munsell Systel P Munsell System Y,,=100, POO
C=2,V=1, 2,5, 84 r-10 C=2,V=1,2,5,68&9, P00 T-10
chromaticity diagral chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,,=102,06Y,,100,00Z,~81,06 B, X,=102,06,Y,,=100,00Z,,=81,06 B,
X=0,3604y,,=0,3531 210 X=0,3604y,,=0,3531 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = a [(x-0,172/y] + 3G = ag [X/y] +
bs=byo [(Mp1x+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
mp;=-0,974,bp,=0,658 n n g mp;=-0,974,bp,=0,658 n 6
n=Po0 -10 ' ' 10 n= P00 -10 j P 10
[=00] \ ’ =00]
Munsell Syste! Munsell System Y,,=180, P00
C=2,V=1,2,5 r-10 C=2,V=1,2,5,8&9, P9 -10
chromaticity diag chromaticity diagram (ag, be)

BE141-7A_1

BE141-8A 1




520 Munsell System Y,,=100, Q00
7 oNM,..C=2, V=1, 2, 5,8 &9, Q00
migstohe chromaticity diagram (x, y)

CIE 1931 X

X=97,93,Yyy=100,0072,,-118,95
X=0,3090y,,~0,3155
Ao=(g-2n Y
Bo=(bo ~bo ) Y
ag = apo [x/y]

b = byo [z

ay =1, byp=-0,4

n=Qoo

Munsell System Y,,=100, Q00

T10

Ao

0,0 200 C=2,V=1,2,5,8&9, Q00 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bo)
BE141-1A_1 BE141-2A 1
X,=97,93Y,=100,007,711895 B, X,=97,98,Y,,7100,007,7118,95 B,
X=0,3090y,,=0,3155 aL X=0,3090y,,=0,3155 110
Ar=(@ a1 Y Ar=(@-ap Y
Bi=(b1-by )Y By=(-by) Y
a) = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
80=1, byp=-04 A 80=1, by=-0,4 (—\\ A
mr1=1,000,bp,=0,17, 1 Mp1=-0,169 bp;=0,389 N ) b
n=Q00 -10 10 n=Q00 10 —~——— 10
Qo0 Q00
Munsell System Y,,=100, Q00 Munsell System Y,,=100, Q00
C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1,2,5,8&9, Q00 T-10
chromaticity diagram (a4, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,=97,93Y,,=100,007,7118.95 B, X,=97,98,Y,,7100,007,7118,95 B,
X=0,3090y,,=0,3155 T10 X=0,3090y,,=0,3155 10
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(04-0yp) Y
a3 = a [(x-0,172/y] a4 = a0 [(x-0,172/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
30=1, byp=-04 A 80=1, by=-04 A
Mp=-0,974,bn,=0,658 3 Mp1=-0,169,bp;=0,389 ) \ M
t { t »
n=Qo0 -10 10 n=Q00 -10 10
Qo0 Qo0
Munsell System Y,,=100, Q00 Munsell System Y,,=100, Q00
C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1,2,5,8&9, Q00 -10
chromaticity diagram (as, bs) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,=97,93Y,,=100,007,7118,95 B X,=97,98,Y,,=100,007,7118,95 B,
X=0,3090y,,=0,3155 210 X=0,3090y,,=0,3155 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = a [(x-0,172/y] g = a0 [X/y]
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
Mp1=-0,974,b,=0,65! 5 Mp;=-0,974,b;=0,658 6
n=Q00 -10 10 n=Q00 -10 10
Q00 Qo0
Munsell System Y,,=100, Q00 Munsell System Y,,=100, Q00
C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1,2,5,8&9, Q00 T-10

chromaticity diagram (as, bs)

chromaticity diagram (ag, be)

BE141-7A_1

BE141-8A 1




